3_ ,.
Simplify: ol L Solution:

Bx3+24x2 X =2

Ax (R=9)

EXT(X+2)

AKX (DD (X3
L EXT LX) LY

2x2-13x-7 ;
. . Solution:
Simplify: 6x2+13x+5 o X~ ‘]

@x%\\X #) SXS

(ax AR C D

@®
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2x%-14x 6x%+27x-15

Multiply:
Py 2x2-15x4+7 10x%+50x3

QX (%=7) 3 (@ A5

(2 A3y er(s)

|

)
>
N

/

ARG B(ARTTIR A S

(3. X655 (=) JEXE (X4
G |

X

S X*

12x3y5 15x5
S5xy* 4dx2y

EAY e
P A

4>

Multiply:

Solution:

G°
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- 3x2-75 \C:—(:___E
Divide: 2R ()

e i( XZ35) |

————eeee

('%X-Q(X + 5)0 Y-S
3 (XﬁrS) \>§7S‘">/ |

———

BX-00ES) (s

w . . 2 2
Divide: e PO
4x2-31x-8 5x2—40x

\5} TXEY Gy Edoy

. 7 T__ :
QX*%\X“§ 5( ,\_\, -

(e Wﬁ SX L\(«i'é{/)/

—_

Cxr)0=8) O\

CX (X 42)

—_

[ xNXL)

()
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Solution: §
-

Solution:
SX( X+2)

(X1 ) %)




Solve: 2 gy, LB

2x—-2  x2-1
S(x*=) =\s ("
gx’ag = 30X%X-3%D

L’SXL_‘*%O%"'Qg;O
S (X% = bX +S)=0O
S ( X=1() (X~ S) o

¥Hzo X
K"‘\ | K g

QM”L,

-

2002 L“-\

o)A

= « 13 wndchad ]

2= =24110

x—2 X

Solve:
LLD: XL

95 (%) = AR+ 1o (XL

Solution:
s/

)

-
—

=3

ISK = 1S X - \Sh 4 oYX =20

=
—

D = (oX =1oX —(SO
6= (o (L =2% =5
= (o

(X = SR

%—S‘-.:D
X =5 v
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g b
X = = -
. ( 'li\°) ~L
j—‘\n)r : v
y= Uoa)-) -5
0+
3
Lo 2
\15..: X+3=p

HA' case s 2

—~

2
Graph:. ¥ = iuz-i:
factored [reducea,

Y= (X -S)d)
( X +U)(X-3)

Yz %-§
X3
Xt y-S=o
- X=9
(S,0)

lm'b.é_

& £ —|X

A 4

A 4
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